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[ 4]
[ 2]

[64H] (
1[0 1]
2[ 8]
3[ 2]
41 4]
5[ 7]
6[ 3]
[ 5]
[ 6]

-0.5 m)

g FESES5 (7 7 A4 +)15.63
Il RAES (& B m)15.70
H B WA 5 (1l ) 15. 71
ol R5(7 7 A4 1)16.36
ngrs4+v5 (7 7 A4 +)16.43
JIEE ks 5 (4 T)16. 44
A SRS (11 ) 16. 93
=4 #E5 (I %) 19. 15
+0.2 m)

sH OEMAMS I %) 15. 99
FE 5L%5 (- 7)16. 21
KE W5 (L m)17.14
I BK5 (7 7 A4 F)17.39
REBS KB55 (U H)17. 47
Kk KR&Es5 (7 7 A4 MRS
WH EE5 (7 7 4 MRS
+0.3 m)

FKiE HES I k) 15. 43
=0 A s (B #1573
ek HEE 5 Ol %) 16. 28
AN =R S]] #)17.10
=) TE-V5 (BT 75)17. 89
= gl %) 20. 20

WA KRR 5 G
RUE s K5 G

i) L1 SR

15) Ri5



INERF 64F100m R (658)

[148]) ( +1.5 m)
1[ 5] ZHEE K6 (8B » B H)13.77
2[ 4] W HiE e (7 7 A +)14.05
30 7] Hy @6 (7 7 A4 +)14.26
41 6] ol z@e (7 7 A4 F)14.28
5[ 2] A —#6 (7 7 4 K)14.52
6[ 8] i mfHe (7 7 4 1)14.97
10 1] s E4E6 (7 7 A4 K)15.14

[ 3] SE Mx6 (FE » B )RS
[3%8] ( -1.0 m)
1[0 1] fmH PLE e (3 f2)13.92
20 7] A E=k6 (1 H)13.93
3[ 8] Fol BE6 (1 ) 15. 41
4[ 5] BH K36 (7 7 A4 )15.48
5[ 4] HE %26 (7 7 A4 1)16.04
6 6] P M6 (7 7 A4 )16.62
70 3] BAK ®Kk6 (7 7 A4 )16.98
8[ 2] RN 6 (& M FE)17.05
[548] ( +1.4 m)
1[ 3] e FEIk 6 I k) 14. 87
20 7] ) e (I %) 16. 06
3[ 6] BIR OKE6 (I %) 16. 22
41 8] i o 6 (I %) 16. 61
5[ 4] HA fEde (I %) 18. 60

[ 2] AR B 6 (I k) 4. 8848

[ 5] i thisze Ol ) K15
1 g KT e (B2 » B9 #H)13.77(+1.5)
2 ’FE%EH SLE 6 (5F 2)13.92(-1.0)
3 A 226 (11 M)13.93(-1.0)
4 eE HE6 (7 7 4 F)14.05(+1.5)
5 H#& ZW6 (7 7 A4 1)14.26(+1.5)
) AR Epke (1l /M) 14.26(-0. 8)
1 oIl Z226 (7 7 A4 F)14.28(+1.5)
8 IR W6 (5F 2)14.40(-1.7)

INFEF 585 400mR REE Q%)

(14#8]
1417 7 4 F A(C s K5 K& DEib
2[3Jih M A( Ky Wp;5 R WAES
KANADIII - AC PERE FEER i PR
AT5I)I ik B( e & AR BHME
2] E 77 (
[6]F JE (

26

[248] ( -1.7 m)
1[ 1] IR W6 (5F F2)14. 40
2[ 8] m S KRR 6 (I ) 14. 48
3[ 4] =) #ie (7 7 A4 +)15.07
41 5] I B KBS 6 (7 7 A 1)15.22
5[ 3] e A6 (7 7 A $)15.35
6 7] wmE mE6 (& F&) 17.00
[ 2] L EHE6 (K E RS
[ 6] B K6 (7 7 A4 MRS
[4%8] ( 0.8 m)
1[ 2] oA EAke (1l ) 14. 26
2[ 7] ek H M6 (5F F2)15. 63
3[ 5] B BEe (4 f%) 15. 66
41 6] % KHEE6 (A 4$)15. 86
5[ 8] AWl A6 (i 4%)16. 00
6 4] HH OMEE6 (7 7 A 1)16.66
[ 3] il #6 (7 7 4 MRS
[6£8] ( 000 m)
1[ 6] 7= virvh 6 (I k) 14. 75
2[ 7] i A gRv 6 Ol %) 15. 54
3[ 2] wiE &6 (I %) 16. 72
41 3] BA ke (I ) 17.17
5[ 4] AW g6 (I %) 17.19
[ 5] wFE K6 I ) K15
(g BE-5 A %FE5)1:02.15
i K5 Pex KUK 5)1:05. 42
(A B # INEOIEE )1:09.22
—hF R FEH BEE )1:13.43
) Ri5
) Ri5



(2#8]
1

20319 iy

3[4]4

A[5]7 v A4 b

56l H
6 (2]

I AN
s [

1)1 8k
27 7 A
3 i
4 A4
ol H
6~7 7 A
7 H
8 Il

C(
7 (
T (
B (
B (
15 (

K

C
A
A
k4
A

F B
B
A

B K
AR FHK
INISVEZ A B
AR JEN 5
AN
FIg 72K

:00. 45
:02.15
:03.79
:04.12
:05. 42
:06.12
:08. 55
:09. 22

— o — — — — — —)

TH %
R K=t
gk FEK 5
G]IRE - L
% % 5
AN K

HH B
A 8RR
JITek 5kG 5
R 22K 5
=) #kS
) TE=N

INFEZF 6840 0mR R Q%)

(1#8]

15]7 7 4 b A(
2[2]5F 2 (
3[6] L M (
4417 7 4 b C(
5071 Bk A(
6 [3])A 7 (
(2#8]

12]7 7 4 b B(
23185 Va B (
3417 7 4 b D(
476])I1 B C(
505])I &k B(
4N N

e =3

17 7 4 F A

2 3F )22
31 H
47 v 4 b+ B
57 7 4 Kk C

6 )1 Bk A
18 A £
N =

fEE FHIE 6
ek E N 6
ol [Ee
R 256
EAR B 6
FHBER 6

B kL 6
HE A6
HK K6
ERT EsE
[ S

5. 87
58.42
58.73
1:00. 42
1:01.35
1:01. 88
1:02. 51
1:02. 81

I
HZ K—6
A 222 6
EH &6
EHE e
FH fnfi 6

72 6

B mFH e
e 2 RBEK 6
#HH HBE6
it I HEEE
HFE b}

INEBF S EFEIERE R

1[21]
2[17]
3[22]
4[30]
5[24]
6[10]

Fm s )
WE A5 G &)
HHE EAS O )
B BEE S (I )
KiE HFES (I )
)N g5 (B )

4m37
3m/1
3m67
3m66
3m63
3m62

27

H# 1% 6
TR e 6
mH K6
A )il #i6
Al EX6
%k KR 6

G 46
FAA KA 6
A 22K 5
B K
AU G

RiE HFE I
= A )1
Hilm AR5 )1
M7 4+ 5)1:
A £ 5 ) 1!
ZZ NI v NN

A
& H
SN
R 2 6)1
7= vtk 6)1
R GE6 )1

e 2 KER 6 ) 1
TN FihE 6 ) 1
KW 15K 5)1
WARL0LE )1
A e )1

00. 45
03.79
04.12
06.12
08. 55
10.90

—1& 6 )55. 87
FLIE 6 ) 58. 42
Sl 6 )58. 73
:01.35
:01. 88
:02. 81

:00. 42
:02. 51
:06. 32
:10.09
:10. 77



71 8]
8[16]
9[ 3]
10[ 2]
10 [11]
12[19]
13 [13]
14 [29]
15[ 5]
16 [15]
17 [33]
18[ 9]
19 [14]
20[12]
211[ 6]
22 [ 4]
23 [27]
24 [20]
251[26]
26 [ 7]
27[32]

[ 1]

[18]

[23]

[25]

[28]

[31]

f& H BEBL 5 (SF
W R N5 G
B W5 (1
KB W5 (L
R RAES (&
B iR oK 5 (P
FEUg sz K5 G
g KIES (I
AN SERES (1
A HEIK 5 (B
A BHES I
FUE 5L%5 (-
H TE-V5 (G
WA KIR5 Cor
Jrig k5 (b
BEES KBS (1L
R E 5 (I
i H FHK5 (P
&= E5 (I
¥ 5 (h
=4 #E5 (I
Fug sz K5 B
= U5 (FE
BiE J1Kk5
e fg MERR 5 (I
PriE M&HES O
(A BES (I

=
ks

H

-

&)
&)
)
)
Fd)
)
&)
)
)
1)
)
)
1)
&)
)
)
)
)
)
)
)

3m60
3m50
3m37
3m34
3m34
3m24
3m22
3m16
3m06
2m88
2m87
2m81
2m/1
2m/0
2m58
2md3
2m45
2m41
2m38
2m24
2m11

15) Ri5
) Ri5
o) K15
o) Ri5
o) K15
o) Ri5

INFEBF 6 FEMmBE RE

1[21]
2[19]
3[17]
420]
5[31]
6[16]
71[25]
8[18]
9[13]
10[ 9]
11[ 8]
12[11]
13[15]
14 5]
15[26]
16 [ 6]
170 7]
17 [24]
19[ 4]
20 [27]
21 [28]
22 [29]
23 [22]
24 [12]

T8 BRIk 6 (I
f&H 9L (5F
R w6 (5
AR B e (I
¥ o= vitvh 6 (11
fol REe (L
A EXRe O
H# K—6 (GF
(A B 6 (b
) i ke 6 (88
AR K6 (8
e 2 REEX 6 (B2
mHE K6 (1
FHIINBER 6 (A
B B6 (I
Nk 6 (R
TR A6 (B
wIR ORIE6 (I
B e (5
ik BEE 6 (I
A BEske (I
A g6 Ol
H-A e (I
g 26 (1

SE A

)
)
&)
)
)
)
)
&)
)
£3)
%)
£3)
)
)
)
)
£3)
)
i)
)
)
)
)
)

4m23
4m20
3m96
3m96
3m94
3m85
3m84
3m75
3m/3
3m66
3m61
3m43
3m36
3m35
3m34
3m32
3m20
3m20
3m18
3m16
3m12
3m10
3m05
2m90

28



25[30]
[ 1]
[ 2]
[ 3]
[10]
[14]
[23]
[32]

(1#8] (
1[ 5]
2[ 4]
3[ 7]
4 3]
5[ 2]
6[ 8]
1[ 6]
8[ 1]

(3#H] (
1[ 2]
2[ 6]
3[ 8]
4 3]
5[ 5]
6[ 7]
11 4]
[ 1]

(5#H] (
1[ 5]
2[ 2]
3[ 8]
4 6]
5[ 7]
6 1]
71 3]
[ 4]

(7#2] (
1[ 3]
2[ 4]
3[ 2]
41 1]
5[ 6]
6[ 5]
71 8]

HFE E2F6 (I %) 2m80
A EHE6 (K B 7RIS
ZHE KW 6 (B » B ) Ri5
HE Mxe (B » B RHRE
K& E76 (FE » BHRE
oA E k6 (1 H) X35
fH R thisze Ol ) K15
] A5 $R Ik 6 (1] i) K35
INFPELZF 5410 0m RE(9FE)
+0.6 m) [248] (
HHE RS (7 7 A4 B)14.72 10 2]
4 #A 5 (%A (185 ) 15. 09 2[ 3]
H0O HES5 (7 7 A4 K)16.15 3[ 8]
H OR¥ES A #M)16. 20 41 7]
B O7R5(7 7 A 1)16.48 5[ 6]
HH OMNES (7 7 4 1)16.62 6[ 4]
REBHEZ S5 (4 #M)17.05 70 1]
H B o =Ews g B vE)17.12 [ 5]
+0.9 m) [448] (
N EF/S (& ) 16. 28 10 2]
i ERS (4 +)16. 33 21[ 4]
e B35 (b ) 16.70 3[ 5]
KHE EEHS (7 7 4 1719 41 6]
JiH 535 (4 #1745 5[ 3]
e EES G~ B #)17.57 [ 7]
wE AL I B vE)18.00 [ 8]
KB EkS5 (W W RIS [ 1]
-0.7 m) [648] (
PVERA R % 5 (& ) 15. 73 10 2]
WNEE &5 (U ) 16. 46 2[ 8]
IR OEEES (§ F&) 16. 60 3[ 3]
B FRF 5 (1L H)16. 87 41 5]
VRAFES (BB » B8 #0)17.23 5[ 7]
Xl Z 3 Ol %) 17. 46 6[ 4]
g mMES (7 7 4 H)17.83 70 1]
FEF RS (7 7 A4 MRS [ 6]
0.0 m) [8%#A] (
Wk Bt 5 Gt 5)16. 67 1[ 6]
KH ¥E5 G 15)16. 74 2[ 2]
e E¥Es5 G f5)16. 92 3[ 8]
HE fHELS Gor 15)17.09 41 4]
R 5 O %) 17. 34 5[ 3]
B B AR5 (B 5)17.35 6 7]
I w5 (I %) 17.78 70 1]
HARF A5 (I %) 18. 25 8[ 5]

81 7]

29

0.0 m)

IR E-5 (b
Vg % Th5 (&
Vi S
RO 5 (L
HH BX5 (B
Ha Miks (7
i EMn5 (k
B % ms Ol
0.0 m)

H& FES (B
SRILEE—EAE 5 (4
fAr HAES (I
MIFREFERES (7
B4 FE&AS5 (U
TR REE5 (U
R M5 (8
it e Il
-0.7 m)

FEDHY =5 (L
M EA&E5 (L
KA HEES5 (L
EHE 2505
Al WiE s (SF
i &EE s Ol
oH turs (I
WHmZI) 5 (8
+1.4 m)

HE 5 O
ERINLE¥5 G
WH Xx5
WA T%5 G
W S5 G
fE e m AT 5 (I
AIRTEZ 5 (5
= HH ORAES O

) 15.
) 15.
) 16.
1) 16.
Fd) 16.
~)16.
7.

7 B
7 A

63
11
40
48
65
12
29

BT Ri5

)16,
¥ 16.
B .
7.
) 19.

51
56
11
10
29

H1) R 35
o B ) Rz
) Ri5

H)17.
H)17.
H)17.
17,
J2)18.
B 7)) 18.
) 20.

21
32
41
97
16
17
61

B Ri5

) 16.
f5) 16.
) 16.
)11
) 11.
HO17.
f5) 18.
) 18.

35
69
81
13
63
13
26
40



(9%8] ¢ +1.4 m)

1[ 6] ME 7RBES (I %) 16. 55
20 7] g v k5 (I ) 17. 82
3[ 4] Ao wes Ol ) 17. 83
41 3] IR S (I ) 17.89
5[ 5] ®F NF S (I ) 18. 74
6 1] S| s Ol B 19. 11
10 2] A A Z5 O #)19.70
8[ 8] Ky #A&5 %) 20. 20
wa

1 g BES (7 7 A

~)14.72 (+0. 6)

2 47 kA 5 (2 (IEE-) ) 15. 09 (+0. 6)
3 HA FE5 (E F)15.51( 0.0)
4 g =5 (il fH)15.63( 0.0)
5 Ve R % 5 (& ) 15.73(-0.7)
6 ik 15 (& B)15.77( 0.0)
1 H0 HWHE5 (7 7 A4 $)16.15(+0.6)
8§  H RHES K ) 16. 20 (+0. 6)
INELF 641 00m REE(940)
(1#8]) ( 0.0 m) [2#8] (
1[ 3] i W6 (7 7 A4 H)14.94 1[0 7]
2[ 8] e #4857/ 6 (7 7 4 h)15.58 2[ 8]
3[ 6] i BE#&6(7 v 14 1)15.59 3[ 6]
41 4] INAR =6 (I B PE)16.15 471 4]
5[0 7] Bl &ZHEe (Il B PH)16. 60 5[ 5]
[2] /N dEmle O gk 7)1 7-88F™ 6 3]
[ 5] B E®6 (7 7 4 MRS 71 2]
[ 1] FEO FEEe Il B P XRIG
[(3%8] (0.0 m) [4%R] (
1[ 5] HR BEME6 (7 7 4 $)15.29 11 4]
2[ 7] #%E HmiEe (& ) 15. 68 21[ 8]
3[ 3] B BHA6 (K H O1E)16.35 3[ 7]
41 2] ER)IEZ6 (B 7 B 1) 16.50 41 3]
5[ 4] g Ee (kO 7E)16.79 5[ 6]
6[ 6] B HEHA6 (5 %) 17.19 6 5]
[ 8] R A A6 (5 B) Ri5 [ 2]
[5#8]) ( 0.2 m) [6#8] (
1[ 2] A =76 (BB & B mE)15.93 1[ 4]
2[ 6] iy EfEe Ok B #6)16. 27 21 8]
3[ 8] T OEZEES (L 7)16. 31 3[ 5]
4 4] BAELXEZG6 (7 7 4 1)16.38 41 2]
5[ 5] H BHA6 (BB » B4 #)16.83 5[ 6]
6[ 3] JriE T 6 (A £)17.06 6[ 7]
10 7] IR EE 6 (1 H)17.22 [ 3]

30

0.0 m)

Yerx KE36 (B 7 B4 rd)16.07
o £ A6 GF ) 16.16
JLSHE A 6 (B » B4 #0)16.24

ER AYB6 (K
mEEVH6 (7
RHE M6 (7
X & Bie (R

+0.4 m)

EARE~FEG6 (7
g L6 (5F
2 #7176 (&
SARH A6 (A
Ve L6 (K
N

7)) 16.
) 16.
7 A4 M.

) 18.

7 A

7 4 k)15,
JE)16.
f#) 16.
) 16.
HoOoPE1T.
wHs 6 (R » B9 HO17.

36
93
13
56

85
06
08
61
44
195% 4%

o g6 (B8 7 B M) RS

0.0 m)

BH W6 (4 %) 15. 41
IEEAREAE 6 (1 J7)15.83
AR B2hme (82 » B4 3 16. 85
ik fE&6 (& & B ) 17.00
AH FEHE6 (5 %) 17. 31
val B3 e (1 H)17.42
LRy EWL6 (A ) 16. 965£4&



(7#8] (

1[ 5]
2[ 6]
3[ 3]
41 2]
5[ 4]
6[ 8]
710 7]

[94H]
1[ 4]
2[ 2]
3[ 3]
41 7]
5[ 6]
6[ 5]

4N AN
e 3

1

O d O 1T~ WwWwN

ot
B

=M

-0.4 m)

NIRRT 6 (I
INE e (I
B F e (I
B =16 (I
g K426
£ 6 ()]
F k6 (I
m)

HE Efke Ul
B ET 6 (I
Fuh ZEe Ul
AR EZ=6 (I
EEO <A 6 (I
HA g6 (I

Mizse (7
HE6 (7
il 6 (45

7 A

0 16.
) 16.
0 16.
) 16.
B 17.
HO17.
B0 19.

) 16.
0 16.
B 17.
HO17.
) 18.
0O 19.

~)14.94( 0.0)
7 A4 £)15.29( 0.0)
J%)15.41( 0.0)

60
67
19
92
08
31
40

317
40
17
24
12
14

KRBT 6 (I
ME &6 (7
R HAv6 (7
PEEFE A 6 (I
%% M6 (5

) 15. 52 (+1.7)
7 A 1£)15.58( 0.0)

7 A

~)15.59( 0.0)

%) 15. 60 (0. 4)
&) 15.68( 0.0)

INEEF 58F400mR REE Q%)

(1#8)
10417
2 [7]1L
3 (2]
4[3])1]
5[8]F
6 [5])1
[61)1]

[248])
10515
2 [2]10
3[6]~7
41718
5811
6 [3])1]
70410

7 4 b A(
H A(
18 A(
ik 7 (
& (

ik A(
2l B(
& (

H B (
7 4 § B(
18 B(
2l B(
ik C(
2l D(

%k PERLS
EBROHH 5
HF AEE 5
I A% 5
T & BES
AR LS
W3 T 5

MR Xz 5
NEE %% 5
A B s
N L5
W3 T 5
A K %5
X 5

H0O HES
s (B35
KHE ¥ 5
AR &S
FH B35
WE NE
BH ORAS

ABF EHS
M EHASS
KH EEHE 5
ERINEHES
BH ORAS
i LS
Ky 755

31

[8#8)] (  +1.7 m)
1[ 8] KA 6 (I %) 15. 52
2[ 5] HE ZEe Ul %) 16. 27
3[ 3] HEEEn6 U %) 16. 84
41 2] TAEEE 6 (I %) 17. 45
5[ 4] E & EiEe (I %) 17. 94
6 6] LR kK FES (I %) 18. 20
70 7] HH R (I %) 19. 65
BLE OMEES  FKEE U 5)1:02.81
KA BEFES5 gk 7 5)1:05.88
fa £ 5 FRY B0t 5)1:07.15
H B 5 &E 32 H 5)1:09.40
A WS ek H#E5)1:09. 49
H AL A2 A WH FEx )1:12.42
IR EFES fRIE DB 5) R
Vefg v 5 VEpEAR % 5)1:04. 46
Eilbv x5 kI #H5)1:08.35
JREEE S Mk FBMES )1:08. 86
HIFHTER S RAF B4 5)1:08. 88
IR ESES fRIE VR 5)1:10.72
I EES W FERK5)1:12.77

L8 HRfES

R WREE S5 )1

:13.56



I AN
s [

17 7 A4 b

2 =
3 1
4 %
o I
6~
T 3
8 I

\Q
m HmH
N

7~
Bo®®= >

el

T >

:02. 81
:04. 46
:05. 88
:07.15
:08. 35
:08. 86
:08. 88
:09. 40

— o — — — — — —

INBEEF 6540 0mR REE Q%)

(1#H]

1517 7 4 bk A(
2317 7 4 b B(
3[4k " 7 (
417])11 ik 7 (
5[6]4 % (
6[2]82 » B H(
T & A(
8811l ik B(
(24H]

10 B C(
23] & (
3[7] 1 77 (
4l6ldz 7 B m(
508111 ik E(
6 [5] )i 7 (
714114 H (
8211l ik D(
17 7 4 K A
2)I1 C
37 7 4 F B

4 F J==3

5 | Ial
6 7 B M
1K H [id)

8 Il E

INBEIZF 5 EFENE

1[20]
2 [28]
3[36]
441]
5 [48]
6[21]
7[11]
8[ 9]
8 [46]

HHEr g5 6
IEEY & 6
(LR A8 6
O HH6
B 0E6
AR E2HN 6
IR L6

s <A 6

NIRRT % 6
FERT #2756
FH EEE
Al ZET-6
WIAET 6
LRy EHL 6
PEIL B53E 6
HH 756

:00. 47
:02.90
:03. 87
:04. 38
:04. 63
:05. 27
:05. 96
:06. 31

— o — — — — — —)

& # 4 5 (B (IEE-)
w5 )
B WRBES (I )
e LS5 GBF fif)
Ha TES5 18)
Al 25 Ol &)
KATIFEEE 5 (4 Al
s MAES O B )
BRI G 1e0)

RIE HA6
BAE % 6
hrm E6
/NI AEM. 6
B HEhiFi6
ZH H5A4 6
X6
A A 6

PIIZEFIAE 6
&) B 6
(AR 726
KN BL6
= e
HA 6

iR B

4m28
3m31
3m29
3m11
3m09
3m00
2m95
2m90
2m90

32

BIAEX £ 6
Bk EME6
HR Y6
il ZH 6
BIm £ 6
K #VHS 6
R 2K 6
TATHEE 6

INE BLE6
R A 46
g LR 6
ERINFELE6
ik HE6
g E4L 6
Bl e
HEFEMNG6

WMizs6)1:
e )
il 6)1
IR AR 6 )1
BH EafE 6 )1
JLEHE B 6 )1
B BE6)1
AEJRRIE 6 )1

It
RH
1 jk

RIGRBGFN 6 )1
g Lt e )1
AL 6 )1
erx REF6)1
AE ZEE6)1
JARH B 6)1
IR HEE6 )T
R ET6)1

00.
:03.
:05.
:07.
:07.
:07.
:08.
1.
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:04.
:04.
- 05.
:06.
:07.
:08.
:09.

47
817
96
09
17
53
48
99
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38
63
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31
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49
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10 [13] gk w5 (h H) 2m89
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